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Week 5 - HSC TASK #2

A - - Yy ‘Iff(x) log, (x~1)
"Time Allowed: 50 minutes | Total Marks: 40~ Name: ' ' @ Find (%)

(ii) Show that 7(x)and £7'(x) are mutually inverse funetions,

2. Use a new booklet Marked by RPN 12marlks

1. Useamew hooldet -~ Matked by GHW 16 mirks ' fe. FU) =G
(a) Multiple Choice: Write down the correct alternative on your booklet. 5 a ' (b) If the domain of y = x* ”4"‘_ is restricted to a monotonic increasing curve:
! ’ (1) sketch y = f(x)
@ i y=2t
_ . (ii) find the inverse function y = f~ (x)
. . state the domain and range of the inverse fimction '
A. f‘(x)=—+7. B. £li(x) = 4"” C.fix)=4x+7 D. f'(x)=Tx 4 R : (it state the domain and reng
.Xx .
¢) Bvaluate: (i) cos™ (——=
o © ® ( J_
“(if) cos™(=x) = J3
' : - (i) fﬂn(Sin"y('*.-))
A.cos'®) - B.sin'(®) C.-cos™(x) D..7—cos™(x) , T : : 2

@F ind the exact value of sin(2 tan‘1 13

(iif) If y =sin” (v1-2?) then% =

. ;x 1-x* B. 4—-x -C. 2x ). -1 . . h ;
N S T e _ 3, | Useanewhooldet Marked by HRK Smarks
(iv) The evaluation of I 4 g is : ' a ' " | @) Sketch y =.4. sin™ (232) :
T z 27 3z : : . d g
AL B. — C.~— D =— - ind —(cos™
6 4 3 2 p (b) Find = (cos™ 8x)
(v) The derivative of y = x.In(tan™x) is dx
' (c) Evaluate Pl ¢ ,
A —+4h@anx) B ——x(l“‘ )+1n(t x) , .
1+x tan™ ~ (d) Differentiate y =sin™(5x”) with respéct tox .
m+m(wn-‘ x) D. "t(:x )+xln(tan x) (e)Fﬁldj d
x x .
. ' _ N49-4x
®)y @ Write down the result for sin2x in terms of sinxand cosx. ] 21
(i) Hence show that siﬁ(% —X) cos(%— -x)= —;-cos 2x. . 2
() Solve: sme—ﬁcos0=1,for 0<6<2r 3
(d) Find the general solutions of: sin? 4%sin9 =0, 3

(@  Bvaluate [¢3sin*xdx. . : 2
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